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PUBLIC ADMINISTRATION
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  The Constitution allows to provide funds in advance for the estimated expenditure which
finally becomes a part of the Appropriation Bill is called

(1) Vote on Credit (2) Exceptional Grant
(3) Appropriation Account (4) Vote on Account

2.  The correct statements about Delegation are
(i) It reduces burden on the superior
(i) Delay is avoided in the administrative process.
(iii) Delegation helps to develop second line of leadership.
(iv) Itentails power to sanction new policies and departures from old practices.

Select the correct answer by using the codes given below :

Codes :

@) (@), (i), (i)
) (i), (iii), (iv)
@) (i), (iv)

@) (iv), (i)

3. The theory that provided an ideological basis for reforms in administration in the 19"
century America, belongs to

(1) Woodrow Wilson (2) F.W. Taylor
(3) M.P. Follett (4) Elton Mayo

4. New Public Administration does not stand for
(1) Client focus
(2) Social equity
(3) Relevance

(4) Structural changes in administration
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5. Which of the following statements regarding the second Minnowbrook Conference are
correct ?

(@) Its theme, tone and tenor were radical and anti-government.

(b) It paved way for New Public Management (NPM).

(c) Its focus was on Liberalization, Privatization and Globalization.
(d) It was chaired by Rosemary O’Leary.

Select the correct answer by using the codes given below :

Codes :

(1) (a), (b)and (c)

(2)  (b), (c) and (d)

(3) (b)and (c)

4) (a), (d)

6.  Which of the following approach has aim to establish a body of knowledge that facilitates
understanding, explaining and prediction of human behaviour in administrative situation ?

(1) Systems Approach (2) Behavioural Approach
(3) Ecological Approach (4) Structural Approach

7. Taylorism is a theory of management that
(i) analyzes and synthesizes workflows.
(i)  develops informal communication (grapevine).
(i) attempts to apply science to the engineering of processes and to management.
(iv) improves economic efficiency (specially labour productivity).
Select correct answer by using codes given below :
Codes :
() (@), (i), (i)
) (), (i), (iv)
Q) (i), (iii), (iv)
(4) (), i), (i), (iv)
Paper-I1 4 J-14-16
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10.

11.

12.

13.

The term *Iron-cage’ for bureaucracy has been coined by whom of the following ?
(1) Max Weber (2) A. Maslow

(3) McGregor (4) C.l.Barnard

Which one of the following has not contributed to the concept of *co-ordination’ ?
(1) Mac Farland (2) M.P. Follet
(3) Luther Gulick (4) Patrick Dunleavy

Which one of the following is a mathematical expression of V. A. Graicunus’ theory of

span of control ?

1) 2n(%+n—1)

@) (—+ n- 1)
o 2o
@ n(3en+)

Who among the following has introduced the concept of knowledge worker ?
(1) McGregor (2) Peter Drucker
(3) Chris Argyris (4) R.Likert

Maslow’s expanded transcendence needs mean
(1) Knowledge requirement

(2) Appreciation and search for beauty

(3) Helping others to achieve self-actualization

(4) Realizing personal potential

Situational theory of leadership was developed by which of the following ?
(1) Kurt Lewin

(2) Fred Fielder

(3) Hersey and Blanchard

(4) RobertR. Blake and J.S. Mouton

Paper-I1 6
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14.

15.

16.

17.

18.

The concept of Representative Bureaucracy is propounded by
(1) Robert Merton (2) Donald J. Kingsley
(3) F.M. Marx (4) Herman Finer

Currently the relationship between the President and the Council of Ministers is governed
by which one of the following Amendments to the Constitution of India ?

(1) 54™ Amendment Act (2) 52" Amendment Act
(3) 44™ Amendment Act (4) 42" Amendment Act

The audit of the accounts of the Union and of the States is a subject of which of the
following ?

(1) Union List (2) State List
(3) Concurrent List (4) Residuary Powers

Which of the following is not a part of the Ethical Framework for Ministers as suggested
by the second ARC ?

(1) There should be a dedicated unit in the offices of the Prime Minister and the Chief
Ministers to monitor the observance of code of ethics for ministers.

(2) The code of ethics, code of conduct and the annual report should be put in the public
domain.

(3) The Prime Minister should be duty bound to ensure the observance of the code of
ethics.

(4) The code of ethics should inter-alia include specific principles of the minister-civil
servant relationship.

Assertion (A) : It would be a gross fallacy to regard the institution of Governor as a
faint presence like a full moon at midday.

Reason (R) : The role of Governor is that of a sagacious counsellor, mediator and
arbitrator rather than an active politician.

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.
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19.

20.

21.

22.

23.

Which one of the following recommendations is not suggested by second Administrative
Reforms Commission regarding citizen’s initiatives for maintaining ethics ?

(1) Citizen charter should be made effective
(2) Civil society should be activated
(3) Citizen may be involved in the assessment and maintenance of ethics.

(4) School awareness programmes should be introduced.

‘“March rush’ a term used in budgetary practices is caused by
(1) Audit (2) Expenditure

(3) Financial transactions (4) Rule of lapse

Assertion (A) : Niti Aayog plays a role of think tank in terms of planning to the Central
and State Governments.

Reason (R) : It acts as a knowledge network and as a centre to upscale local
innovations.

Select the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Raising the level of nutrition and the standard of living and improving public health is the
duty of the state under which of the provisions of the Constitution of India ?

(1) Article 45 (2) Article 46
(3) Article 47 (4) Article 48

How many members in total from the categories of scheduled castes, scheduled tribes,
other backward classes, minorities and women can be appointed to Lokpal in India as per
the provisions of Lokpal and Lokayukta Act, 2013 ?

(1) Not less than six (2) Not less than five
(3) Not less than four (4) Not less than three

Paper-I1 10 J-14-16
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24,

25.

26.

27.

28.

Which one of the following states has the highest level of police density as per National
Crime Records Bureau Report (2011) ?

(1) Bihar (2) Chhattisgarh
(3) Uttar Pradesh (4) Mizoram

Which one of the following institutions for promoting horizontal accountability is outside
the executive branch of the state ?

(1) Lokayukta (2) Comptroller and Auditor General

(3) Central Vigilance Commission  (4) Central Bureau of Investigation

Which of the following are the objectives of training and development in recent times ?
(i)  Proactive needs analysis

(i)  Performance improvement

(iii) Outcome based learning

(iv) Talent Management

Select the correct answer from the codes given below.

Codes :
(1) (i) and (ii) (2) (i), (i) and (iii)
(3) (i), (i), (iii) and (iv) (4) (i) and (iii)

Which of the following statements are correct regarding the significance of research ?
(@ Research adds new knowledge to the existing one.

(b) Research evaluate the ongoing public policies and programmes.

(c) Research give suggestions for solving the operational problems.

(d) Research give employment to the professionals

Select the correct answer from the codes given below :

(1) (a), (b) and (c) (2)  (b) (c) and (d)

(3) (a), (b) and (d) (4) (a), (b), (c) and (d)

Which one of following is a random sampling ?
(1) Quota sampling (2) Multistage sampling

(3) Convenience sampling (4) Judgement sampling

Paper-I1 12 J-14-16
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29.

30.

31.

32.

33.

34.

Research studies discovering and testing association of certain variables is known as
(1) Exploratory studies (2) Descriptive studies
(3) Diagnostic studies (4) Formulative studies

Which one of the following characteristics of scientific method gets reflected in the
statement “Science never imposes anything, science states. Science aims at nothing but
making true and adequate statements about its objects.” ?

(1) Commitment to objectivity (2) Ethical neutrality
(3) Generality (4) Predictions based on probability

Which one of the following is not a major bibliography style ?
(1) American Psychology Association (APA)

(2) Modern Language Association of America (MLA)

(3) Chicago Style (Chicago Manual of Style)

(4) United Press International Style (UPI)

Who among the following has identified development administration as ‘administration of
planned change’ ?

(1) U.L.Goswami (2) V.A. Panandikar
(3) B.S.Khanna (4) Inayatulla

‘Research in Comparative Public Administration should focus on all of the input
conversion and output aspect of the administrative system.” Who among following made
this statement ?

(1) Fred W. Riggs (2) Keith Henderson
(3) JohnT. Dorsey, Jr. (4) Dwight Waldo

Which of the following statements are correct regarding the administrative development ?
(@) Itisthe development of administration.

(b) Itis concerned with structural and functional changes in administration.

(c) Itenhances the potentialities of administration.

(d) It promotes adherence to procedures.

Select the correct answer by using the codes given below :

(1) (), (b) and (c) (2) (b) (c) and (d)

() (a), (b) and (d) (4) (a), (c)and (d)
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35.

36.

37.

38.

Which is not correct regarding the focus of ‘“Neo-liberal Model’ of development ?
(1) Minimal role of government

(2) Anemphasis on price stability

(3) Outsourcing of services

(4) Ensuring micro-economic stability

In U.S.A., which of following Act prohibited the civil servants to engage in political
activities while performing duties ?

(1) The Pendleton Act (2) The Hatch Act
(3) The Ramspeck Act (4) Civil Service Reform Act

Assertion (A) : The appointment of Supreme Court Justices is one of the most
important responsibilities of U.S. President.

Reason (R) : The federal judges are appointed for life and can be removed from
office against their will only through impeachment.

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Which of the following is correct regarding the Ministry of Social Justice and
Empowerment ?

(i) It comprises of the Department of Social Justice and Empowerment, and
Department of Disability Affairs.

(if) It deals with cases of substance abuse.
(iii) The affairs of senior citizens are under this ministry.
(iv) It looks into the affairs of women and child development.

Select the correct answer by using the codes given below :

Codes :
@ (), (i) and (iv) (2) (i), (iii) and (iv)
(3) (i), (i) and (iii) 4) (i), (iii) and (iv)
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35.

36.

37.

38.

T & “Ta-SERER! Hige” & Heay W o1 el T & 2
(1) THR F FATH qHH

(2) T FERa W T

(3) Famatt 1 AT

(4) Gem aMigeh FeRdr gHvad e

TIFT T SERE Ry oifufem §RT ik Warhi i 310 A IR % IR TSI
TfteteE | 9T oA g o T € 2

(1) <t vsereT AfufEm
(2) &= AfutEm

(3) 3 YUk sttty

(4) AR Gar gur At

AHeA (A) : ITIAH TR % FEERT S Fgf Sge 59 % Tgdfd & Qb § gad
e ol STREIA ¢ |

% (R) : THIT =TT Sl SToH-93= HEST o% [0 g {61 ST € U 37 S 387 &
foreg ShareT TRININT o ERT &1 §eTa ST Tehell ¢ |

G T

(1) (AT (R)IF & & T (R), (A) F Q& AT |
(2) (A T (R) 3H &l & W= (R), (A) 1 Tl =& & ¢ |
(3) (AT E W (R) T |

(4) (A) T g =" (R) W& |

AT =T T SATHINAT HAerd o Hay | feiigd o 9 o7 T8l & 2

(i) TOH G = 31T ST TowT T F-91eRkdT Hret fervm sntiet € |
(i) ¥ 3o SEIANT & el o a1 B Hd HAT § |

(iii) =T 9™ % A AN AR & ATHAT 6T B fohaT A1 8 |

(iv) =& Afect qe aTet T Hel 1 He S@dT & |

e 2 7T et i HerFar § Wl I N T BT

&<
@ (), (i) 3R (iv) 2 (i), (iii) &R (iv)
3 (i), (ii) 3 (iii) @) (i), (iii) =R (iv)
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30.

40.

41.

42.

43.

Which of the following is not an advantage of Self Help Group Scheme ?
(1)  Uniformity in programme design

(2) Space for community initiatives

(3) Developing capacities of self-management

(4) Draws upon healthy traditions from the local culture

The Direct Benefit Transfer Mission is placed under which of the following ?
(1) Department of Economic Affairs

(2) Department of Expenditure

(3) Department of Social Justice and Empowerment

(4) Cabinet Secretariat

In which year, the “‘Corporate Social Responsibility’ was mandated under the Companies
Act ?

(1) 1956 (2) 1991
(3) 2011 (4) 2013

“Deconcentration is based on administrative action, devolution on political and legal
actions and decentralization on political, legal and administrative action.” The above
statement is given by

(1) M.A. Muttalib (2) Mohit Bhattacharya
(3) J.D. Mooney (4) Terry

Which of the following is not one of the steps required for capacity building of the urban
local bodies ?

(1) Implementation of cadre reforms as mandatory under INNURM II
(2) Setting up specialized training institutes.
(3) Introduction of cadre linked training programmes as a reform

(4) Independent implementation of cadre management reforms as a sole mandatory
responsibility of the states.
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39.

40.

41.

42.

43.

frfefEd & @ % 91 T FeradT T9g ST 6 o T E 2
(1) EHT T H THETT

(2) WTETEE el % foTT T

(3) TE-yEY FI TSt F o

(4) TIHIT LI Bl T TERTS i SHR HAT § |

T T 31T fer TR § 9 foheh SieT T T § 2
(1) Tfees A o fomT

(2) == faam

(3) TSI = Y e faemT

(4) e GieEred

foHg 99 “FmtHaa QT S’ ot shoel STITEY o iaid 2Aad fowar mar 2
(1) 1956 (2) 1991
(3) 2011 (4) 2013

“IGHZT AT H W, IR0 T A faferes @t o ik famsisnor Temifaes, fafus
A ITEHIT HET IT UM & 1”7 Sk o oheer 510 fear man € 2

(1) UwHT Fates (2) Hifed wem=E
(3) =LA (4) =

frefafa & & S vt T MRt & e e o for sifed wem e & 2
(1) STATAI SR, I &F < A-ar oHa T ol GERT 1 e
(2)  TorRreiighe HTRTaToT ST i T

(3) |UR % & H Hol Trag UTeT0T SHrdshHl Sl I HEAT

(4) TS I THS A A F T H GaT TEET R HT AT BRI
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44.  Which of the following is not a subject of Eleventh Schedule of the Indian Constitution ?

(1)
(2)
(3)
(4)

Libraries
Markets and Fairs
Family Welfare

Prevention of cruelty to animals

45.  Which of the following recommendations of second Administrative Reforms Commission

about Ombudsman at local level are correct ?

()
(i)
(iii)

(iv)

A local bodies Ombudsman should be constituted for a group of districts.
Constitutional recognition be given to Ombudsman at this level.

It has power to investigate cases of corruption and maladministration against the
functionaries of local bodies.

It will submit report to competent authorities for taking action.

Select the correct answer by code given below :

1)
()
(3)
(4)

(i) and (ii)
(i), (ii) and (iii)
(i), (iii) and (iv)

i), (ii), (iii) and (iv)

46. Assertion (A) : The administrative process needs to be demystified because

mystification is a strategy adopted by bureaucracy to let corruption
grow.

Reason (R) : Demystification of administrative procedure has to be followed by

decentralized power through local government with provision for
participatory governance and empowerment of people.

Codes :

1)
)
(3)

4)
Paper-II

Both (A) and (R) are correct and (R) is the correct explanation of (A).
Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(A) is true, but (R) is false.
(A) is false, but (R) is true.
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44,

45.

46.

e o & i 91 IR e wf ERedt S 5 faw @ € 0
(1) eI

(2) 9NIR U dot

(3) URER T

(4) SR o Ui e T e

T TR W AT % aR § 38 WIS GER 3TENT 3t =it § § SiF d@ SR
T E 2

(i) ¥R HER SAEeaia 1 T el & T T & fold forar ST =nfew |
(i) =9 TR W AEEET Sl e A= UM 3 ST 16T |

(iii) =V T e & TR & a6 TeER SR HEE & TTHel % e H DR
T

(iv) & HRATE FA h 1T TeTH TSR i AfcTela TR BT |
T i3 T Fet ¥ WEl IR A T

(1) (i) = (i)

) (), (i) & (iii)

3) (), (iii) =R (iv)

@ (), i), (iii) & (iv)

AHFHUT (A) : TR UFHAT o TREAHRIT Tt STETIHAT & TR ATHIITE WETAR T FeTal 3 6

forw Ueie it arett Tomie ST & |
qF (R) : TRIEME TihaT T AT TIHT TRBR b A1 TE9RT MG T ST o FTeRi 0T

! T AT fehi-5 feRT Bl STHATRY fofal ST & |
FT
(1) (A) T (R) I W& & (R), (A) & A@E |
(2) (A) T (R) I T T, R (R), (A) T TEl A Tl |
3) (A) T e R’ (R) T & |
(4) (A) T & =" (R) W& |
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47.

48.

49.

50.

Which department of Finance Ministry issues notice regarding constitution of Finance
Commission under Article 280 of the Constitution ?

(1) Department of Economic Affairs
(2) Department of Expenditure
(3) Department of Revenue

(4) Department of Financial Services

“Finance is as universally involved in administration as oxygen in the atmosphere.” This

statement is made by who of the following ?
(1) Morstein Marx

(2) Kautilya

(3) F.A.Nigro

(4) J.N. Keynes

Who of the following described the Cabinet as the ‘efficient secret’ of the British political
system in his book ‘The English Constitution’ ?

(1) Ramsay Muir
(2) Walter Bagehot
(3) Francis Bacon

(4) David Loyd George

Responsibility for regional and local government in England lies with which of the

following ?

(1) Office of the Prime Minister (OPM)

(2) Office of the Deputy Prime Minister (ODPM)
(3) The Minister for Local Government

(4) Local Government Association
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47. 9RA % GUM % SRS 280 % I (O AN & A & Ty | foaa Her # S a1
TermT o SIRY el & 2

(1) Tfees A o fomT
(2) === fawm

(3) =g fawm

(4) foxit= Qar faam

48. “gemEA W ford 3T € WEMM w9 ¥ ghmfed & AT agaved W SRS 17 a8 S
e & & T € 2

(1) YREF A
(2) e

(3) uRT =
(4) ST T

49. TrHfeIRad ¥ ¥ T 3ToHT T ST SHOTRT Shi-aeege’ | Shiare ohi ToeeT ISTHiTash SaeT &
‘ufthfaue Hishe” aftrd fopar & 2

(1) =R

(2) arRT SRl
(3) HirG Sk
(4) <fas aEe S

50. eive H R SIY TR SR & SRR fefaied § 9 e e 2
(1) TEFE= HET
(2) SU-TYUFHEST HETE
(3) TR ST T

(4) T IET Ge
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